maintenance as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified	\$1,800.00 \$3,500.00 \$69,500.00
a. Install shingles  16 SF @ \$15.00 = \$240.00 Included in Base Bid  2. Fairhope Courthouse, Typical - Perform Modified Bitumen roof maintenance as specified  Joint Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Joint Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
16 SF @ \$15.00 = \$240.00 Included in Base Bid  2. Fairhope Courthouse, Typical - Perform Modified Bitumen roof maintenance as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
2. Fairhope Courthouse, Typical - Perform Modified Bitumen roof maintenance as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
maintenance as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$5500.00 Included in Base Bid  8. Fairhope Courthouse, B - Perform shingle re-roof as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
maintenance as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  \$2,400.00 Included in Base Bid  b. Replace walk pad  \$5500.00 Included in Base Bid  8. Fairhope Courthouse, B - Perform shingle re-roof as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Clear drains of debris  52,400.00 Included in Base Bid  b. Replace walk pad  5500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	\$69,500.00
a. Clear drains of debris  b. Replace walk pad  5500.00 Included in Base Bid  5500.00 Included in Base Bid  5500.00 Included in Base Bid  Fairhope Courthouse, B - Perform shingle re-roof as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF	\$69,500.00
\$2,400.00 Included in Base Bid  b. Replace walk pad  \$500.00 Included in Base Bid  \$500.00 Included in Base Bid  B. Fairhope Courthouse, B - Perform shingle re-roof as specified  Jnit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	\$69,500.00
b. Replace walk pad  \$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	\$69,500.00
\$500.00 Included in Base Bid  3. Fairhope Courthouse, B - Perform shingle re-roof as specified  Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Repair deteriorated 5/8" plywood.  100 SF \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	\$69,500.00
Unit Pricing - Owner can add/delete quantities from the Contract as required.   a. Repair deteriorated 5/8" plywood.   100 SF @ \$6.00 = \$600.00 Included in Base Bid     b. Repair fascia board with new PT.	\$69,500.00
Jnit Pricing - Owner can add/delete quantities from the Contract as required.   a. Repair deteriorated 5/8" plywood.   100 SF @ \$6.00 = \$600.00 Included in Base Bid     b. Repair fascia board with new PT.	\$69,500.0 <b>0</b>
a. Repair deteriorated 5/8" plywood.  100 SF @ \$6.00 = \$600.00 Included in Base Bid  b. Repair fascia board with new PT.	
100 SF @ \$6.00 = \$600.00 Included in Base Bid b. Repair fascia board with new PT.	
b. Repair fascia board with new PT.	
•	
100 DF (w \$12.00 = \$1,200.00 included in Base Bid	
a. Fabricate and install metal eave.  20 LF @ \$30.00 = \$600.00 Included in Base Bid	
	_
5. Foley Courthouse, 10 Locations - Perform shingle roof repairs and maintenance as specified	\$5,900.00
Unit Pricing - Owner can add/delete quantities from the Contract as required.	
a. Clear gutters	
\$2,400.00 Included in Base Bid	
b. Fabricate and install field shingle roofing.	
10 SF @ \$15.00 = \$150.00 Included in Base Bid	
c. Install hip and ridge shingles.	
150 LF @ \$15.00 = \$2,250.00 Included in Base Bid	
6. Animal Shelter, Bldg A - Perform shingle re-roof as specified	\$83,000.00
Unit Pricing - Owner can add/delete quantities from the Contract as required.	303,000.00
Repair deteriorated 5/8" plywood.	
3,000 SF @ \$6.00 = \$18,000.00 Included in Base Bid	
b. Repair fascia board with new PT.	
3,000 BF @ \$10.00 = \$30,000.00 Included in Base Bid	
7. Animal Chalken Dide D. Denfanns makel as a first all the control of the	42.000.00
7. Animal Shelter, Bldg B - Perform metal roof repairs as specified	\$2,000.00
Unit Pricing - Owner can add/delete quantities from the Contract as required.  a. Fabricate and install metal roof panel.	
a. Fabricate and install metal roof panel.  18 SF @ \$50.00 = \$900.00 Included in Base Bid	

	r Roofing Contractor	s, Inc.	G	C License #1393	4	
1. Fairhope BRATS	Perform shingle roo	f repairs a	s specified			\$3,500.00
<u> Unit Pricing</u> - Owner o	an add/delete quantitie	es from the	Contract as	required.		
<ol> <li>a. Install shingles</li> </ol>						
16 SF @	\$20.00 =		\$320.00	Included in Base I	Bid	
	<del>-</del>					
	ouse, Typical - Perfor	m Modifie	ed Bitumen	root		\$15,000.00
maintenance as	•					
	an add/delete quantitie	es from the	Contract as	required.		
a. Clear drains of o	iebris		44 500 00			
b Davidson will as			\$1,500.00	Included in Base I	Bid	
b. Replace walk pa	ia		¢500.00	to also dead to Beauty	D1-1	
			\$500.00	Included in Base I	ыа	
3. Fairhope Courtho	ouse, B - Perform shir	ngle re-roo	of as specif	ied		\$89,190.00
•	an add/delete quantitie	-				, , , ,
	ated 5/8" plywood.			- 4-		
100 SF @	\$5.00 =		\$500.00	Included in Base I	Bid	
b. Repair fascia bo						
100 BF @	\$5.00 =		\$500.00	Included in Base I	Bid	
-	20764 Hwy 24 - Performan add/delete quantition is tall metal eave. \$75.00 =	es from the	Contract as	required.	Bid	\$3,500.00
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as s	san add/delete quantitionstall metal eave. \$75.00 =	es from the	\$1,500.00	required.  Included in Base I	Bid	\$3,500.00 \$15,000.00
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as s	an add/delete quantitionstall metal eave. \$75.00 =  e, 10 Locations - Perferences	es from the	\$1,500.00  le roof repare	required.  Included in Base I  sirs and  required.		
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters	an add/delete quantitie stall metal eave. \$75.00 = e, 10 Locations - Perfe specified an add/delete quantitie	orm shingles from the	\$1,500.00  le roof repare	required.  Included in Base I		
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in	an add/delete quantitionstall metal eave. \$75.00 = e, 10 Locations - Perfections and add/delete quantitionstall field shingle roofin	orm shingles from the	\$1,500.00 le roof repart Contract as \$100.00	required.  Included in Base I airs and required.  Included in Base I	Bid	
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in 10 SF @	an add/delete quantitionstall metal eave. \$75.00 =  e, 10 Locations - Perfective in a perfecti	orm shingles from the	\$1,500.00 le roof repart Contract as \$100.00	required.  Included in Base I airs and required.  Included in Base I	Bid	
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in 10 SF @  c. Install hip and r	an add/delete quantitie stall metal eave. \$75.00 =  e, 10 Locations - Perfet specified an add/delete quantitie stall field shingle roofir \$250.00 = idge shingles.	orm shing es from the	\$1,500.00 le roof repart Contract as \$100.00 \$2,500.00	required.  Included in Base I  airs and  required.  Included in Base I  Included in Base I	Bid Bid	
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in 10 SF @	an add/delete quantitionstall metal eave. \$75.00 =  e, 10 Locations - Perfective in a perfecti	orm shing es from the	\$1,500.00 le roof repart Contract as \$100.00 \$2,500.00	required.  Included in Base I  airs and  required.  Included in Base I  Included in Base I	Bid Bid	
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters b. Fabricate and in 10 SF @ c. Install hip and rinto LF @  6. Animal Shelter, Eunit Pricing - Owner of the country o	an add/delete quantitie stall metal eave. \$75.00 =  e, 10 Locations - Perfet specified an add/delete quantitie stall field shingle roofir \$250.00 = idge shingles.	per from the series from the s	\$1,500.00  le roof repart Contract as \$100.00  \$2,500.00  \$750.00	required.  Included in Base I  airs and  required.  Included in Base I  Included in Base I  Included in Base I	Bid Bid	
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters b. Fabricate and in 10 SF @ c. Install hip and rinto LF @  6. Animal Shelter, Eunit Pricing - Owner of the country o	an add/delete quantitie stall metal eave. \$75.00 =  e, 10 Locations - Perfective delete quantitie stall field shingle roofir \$250.00 = idge shingles. \$5.00 =  Sidg A - Perform shingle an add/delete quantitie stall field shingle roofir \$250.00 =  Sidg Sidg A - Perform shingle an add/delete quantitie stall 5/8" plywood.	es from the orm shinging ses from the orm shinging.	\$1,500.00  le roof repart Contract as \$100.00  \$2,500.00  \$750.00  f as specifie Contract as	required.  Included in Base I  airs and  required.  Included in Base I  Included in Base I  Included in Base I  Included in Base I  required.	Bid Bid Bid	\$15,000.00
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in 10 SF @  c. Install hip and rusous Fabricate and in 150 LF @  6. Animal Shelter, Eunit Pricing - Owner of a. Repair deteriors	an add/delete quantitiestall metal eave. \$75.00 =  e, 10 Locations - Perfective in the specified in an add/delete quantities in the stall field shingle roofin \$250.00 = (idge shingles. \$5.00 = (idge A - Perform shingles) in an add/delete quantities in the stall field shingle in the stall fi	es from the orm shinging ses from the orm shinging.	\$1,500.00  le roof repart Contract as \$100.00  \$2,500.00  \$750.00  f as specifie Contract as	required.  Included in Base I  airs and  required.  Included in Base I  Included in Base I  Included in Base I  Included in Base I  required.	Bid Bid Bid	\$15,000.00
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters  b. Fabricate and in 10 SF @ c. Install hip and r 150 LF @  6. Animal Shelter, Eunit Pricing - Owner of a. Repair deteriors 3,000 SF @	an add/delete quantitiestall metal eave. \$75.00 =  e, 10 Locations - Perfective in the specified in an add/delete quantities in the stall field shingle roofin \$250.00 = (idge shingles. \$5.00 = (idge A - Perform shingles) in an add/delete quantities in the stall field shingle in the stall fi	es from the  orm shingi es from the  gle re-roof es from the	\$1,500.00  le roof repart Contract as \$100.00  \$2,500.00  \$750.00  f as specifie Contract as	required.  Included in Base I airs and  required.  Included in Base I	Bid Bid Bid	\$15,000.00
Unit Pricing - Owner of a. Fabricate and in 20 LF @  5. Foley Courthouse maintenance as sunit Pricing - Owner of a. Clear gutters b. Fabricate and in 10 SF @ c. Install hip and rints of the maintenance o	an add/delete quantitiestall metal eave. \$75.00 =  2, 10 Locations - Perfective delete quantities  an add/delete quantities  stall field shingle roofin \$250.00 =  dige shingles. \$5.00 =  Bldg A - Perform shing an add/delete quantities and add/delete quantities  and add/delete quantities  \$5.00 =  ard with new PT.	gle re-roof es from the	\$1,500.00  le roof repart Contract as \$100.00  \$2,500.00  \$750.00  f as specifies Contract as \$15,000.00  sairs as specifies	required.  Included in Base I sirs and  required.  Included in Base I	Bid Bid Bid	\$15,000.00

Jnit Pricing - Owner	nex I - Perform mod bit ro	The state of the s	\$1,500.00
	•	om the Contract as required.	
	nstall misc Kynar-coated 24g	•	
20 LF @	\$50.00 =	\$1,000.00 Included in Base Bid	
9. Robertsdale BR/	ATS - Perform shingle and	metal roof repairs as specified	\$1,500.00
	•	om the Contract as required.	
a. Install shingle r	oofing.	·	
18 SF @	\$15.00 =	\$270.00 Included in Base Bid	
10. Sheriff's Office	- Perform metal roof repa	airs as specified	\$2,200.00
Unit Pricing - Owner	can add/delete quantities fro	om the Contract as required.	
a. Repair damage	d metal roof hip.		
30 LF @	\$50.00 =	\$1,500.00 Included in Base Bid	
11. Area 200 Highv	vay Main Bldg - Perform r	metal roof repairs as specified	\$1,500.00
<u>Unit Pricing</u> - Owner	can add/delete quantities fro	om the Contract as required.	
<ol> <li>Fabricate and i</li> </ol>	nstall gable trim panels.		
10 LF @	\$50.00 =	\$500.00 Included in Base Bid	
6,400 SF @		\$115,200.00 Included in Base Bid	
b. Fabricate and i	nstall 2x6 wood purlins. \$10.00 =	\$4,800.00 Included in Base Bid	
	S.	om the Contract as required.	\$8,000.00
750 LF @	\$8.00 =	\$6,000.00 Included in Base Bid	
14. Bay Minette A	nnex I - Replace missing/d	lamaged shingles	\$4,000.00
Unit Pricing - Owner	can add/delete quantities fro	om the Contract as required.	
- Bentered	ed shingles.		
<ul> <li>a. Replace damag</li> </ul>	\$20.00 =	\$2,000.00 Included in Base Bid	
a. Replace damag			
100 SF @	ion - Replace missing/dan	naged shingles	\$2,000.00
100 SF @		naged shingles om the Contract as required.	\$2,000.00
100 SF @	can add/delete quantities fro	-	\$2,000.00

	Roofing Contractors, Inc.	GC License #13934	
8. Robertsdale Anne	ex I - Perform mod bit roof rep	airs as specified	\$3,500.0
<u> Unit Pricing</u> - Owner c	an add/delete quantities from the	Contract as required.	
<ol> <li>Fabricate and in</li> </ol>	stall misc Kynar-coated 24ga G90	trim, 24" width.	
20 LF @	\$75.00 =	\$1,500.00 Included in Base Bid	
Dobortedalo BBA	ΓS - Perform shingle and meta	I roof ropairs as specified	\$3,500.0
	an add/delete quantities from the		33,300.0
a. Install shingle ro	•	. contract as required.	
18 SF @	J	\$900.00 Included in Base Bid	
10 31 @	γ30.00 =	Treated in Base Bia	
10. Sheriff's Office -	Perform metal roof repairs as	specified	\$3,500.0
Unit Pricing - Owner c	an add/delete quantities from the	Contract as required.	
a. Repair damaged	metal roof hip.		
30 LF @	\$50.00 =	\$1,500.00 Included in Base Bid	
11. Area 200 Highw	ay Main Bldg - Perform metal	roof repairs as specified	\$3,500.0
<u> Unit Pricing</u> - Owner c	an add/delete quantities from the	Contract as required.	
a. Fabricate and in	stall gable trim panels.		
10 LF @	\$50.00 =	\$500.00 Included in Base Bid	
<u>Jnit Pricing</u> - Owner c	dg - Perform metal roof replace an add/delete quantities from the	· · · · · · · · · · · · · · · · · · ·	\$156,000.0
<u> Unit Pricing</u> - Owner c	an add/delete quantities from the stall metal roof panels.	Contract as required.	\$156,000.0
Unit Pricing - Owner c a. Fabricate and in 6,400 SF @	an add/delete quantities from the stall metal roof panels.	· · · · · · · · · · · · · · · · · · ·	\$156,000.0
Unit Pricing - Owner c a. Fabricate and in 6,400 SF @	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins.	Contract as required.	\$156,000.0
Unit Pricing - Owner c a. Fabricate and in 6,400 SF @ b. Fabricate and in	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins.	contract as required.	\$156,000.0
Unit Pricing - Owner c  a. Fabricate and in  6,400 SF @  b. Fabricate and in  480 BF @	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =	.53,600.00 Included in Base Bid \$2,400.00 Included in Base Bid	
Unit Pricing - Owner c  a. Fabricate and in  6,400 SF @  b. Fabricate and in  480 BF @	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified	Contract as required.  .53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid	
Unit Pricing - Owner c  a. Fabricate and in  6,400 SF @  b. Fabricate and in  480 BF @	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins. \$5.00 =  - Reseal windows as specified an add/delete quantities from the	Contract as required.  .53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid	
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =   - Reseal windows as specified an add/delete quantities from the	Contract as required.  .53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid	
Jnit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Jnit Pricing - Owner c a. Reseal windows	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =   - Reseal windows as specified an add/delete quantities from the	\$2,400.00 Included in Base Bid \$2,400.00 Included in Base Bid  Contract as required.	
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the \$5.00 =	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid	\$7,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the \$5.00 =  mex I - Replace missing/damage	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  ced shingles	\$7,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1  stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the \$5.00 =	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  ced shingles	\$7,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c a. Replace damage	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1 stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.  \$5.00 = \$1 - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  ged shingles Contract as required.	\$7,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1 stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.  \$5.00 = \$1 - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  ced shingles	\$7,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c a. Replace damage	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins. \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins. \$5.00 = \$1 - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins. \$5.00 = \$1 - Replace missing/damage an add/delete quantities from the dishingles. \$20.00 = \$20.00 = \$1	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  Sed shingles Contract as required.  \$2,000.00 Included in Base Bid	\$7,500.0 \$3,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c a. Replace damage 100 SF @	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins. \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins. \$5.00 =  mex I - Replace missing/damage an add/delete quantities from the d shingles. \$20.00 =  on - Replace missing/damaged	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  Sed shingles Contract as required.  \$2,000.00 Included in Base Bid  shingles	\$7,500.0 \$3,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c a. Replace damage 100 SF @	an add/delete quantities from the stall metal roof panels. \$24.00 = \$1 stall 2x6 wood purlins. \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins. \$5.00 =  - Resplace missing/damaged an add/delete quantities from the d shingles. \$20.00 =  - Replace missing/damaged an add/delete quantities from the d shingles.	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  Sed shingles Contract as required.  \$2,000.00 Included in Base Bid  shingles	\$7,500.0 \$3,500.0
Unit Pricing - Owner c  a. Fabricate and in 6,400 SF @  b. Fabricate and in 480 BF @  13. Annex II Old CIS Unit Pricing - Owner c a. Reseal windows 750 LF @  14. Bay Minette And Unit Pricing - Owner c a. Replace damage 100 SF @	an add/delete quantities from the stall metal roof panels.  \$24.00 = \$1 stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.  \$5.00 =  - Reseal windows as specified an add/delete quantities from the stall 2x6 wood purlins.  \$5.00 =  - Replace missing/damaged an add/delete quantities from the stall 2x6 wood purlins.	contract as required.  53,600.00 Included in Base Bid  \$2,400.00 Included in Base Bid  Contract as required.  \$3,750.00 Included in Base Bid  Sed shingles Contract as required.  \$2,000.00 Included in Base Bid  shingles	\$156,000.0 \$7,500.0 \$3,500.0

BIDDER: Doub	le AA Constructio	n Comp	oany, LLC	GC License #37758	
16. BC Area 100 Hw	y Bldg A - Comple	te re-r	oof		\$81,000.00
<u>Unit Pricing</u> - Owner o	an add/delete quan	tities fr	om the Contract a	s required.	
a. Replace damage	ed metal roofing par	nels.			
3,500 SF @	\$15.00	=	\$52,500.00	Included in Base Bid	
				_	
17. BC Area 100 Hw	y Bldg B - Comple	te re-re	oof		\$33,500.00
Unit Pricing - Owner o	an add/delete quan	tities fro	om the Contract a	s required.	
a. Replace damage	ed metal roofing par	nels.			
1,500 SF @	\$15.00	=	\$22,500.00	Included in Base Bid	
				-	
18. BC Area 100 Hw	y Bldg C - Ridge d	amage	repair		\$1,500.00
Unit Pricing - Owner o	an add/delete quan	tities fro	om the Contract a	s required.	
a. Replace damage	ed metal roof ridge.				
10 LF @	\$50.00	=	\$500.00	Included in Base Bid	
19. Commission at				•	\$1,500.00
<u>Unit Pricing</u> - Owner o	an add/delete quan	tities fr	om the Contract a	s required.	
<ul> <li>a. Clear debris</li> </ul>					
		_	\$1,500.00	Included in Base Bid	
20. Logislation/Dela	ogation Complete	_		-	\$44,000,00
<b>20. Legislation/Dele</b> <u>Unit Pricing</u> - Owner o	an add/delete quan ed shingles.	e Re-ro	of and structura	I <b>l repair</b> s required.	\$44,900.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @	an add/delete quan ed shingles. \$10.00	e Re-ro tities fro	of and structura	- ıl repair	\$44,900.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v	an add/delete quan ed shingles. \$10.00 wood nailer/decking	e Re-ro tities fro =	of and structura om the Contract a \$43,000.00	Il repair s required. Included in Base Bid	\$44,900.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @	an add/delete quan ed shingles. \$10.00 wood nailer/decking	e Re-ro tities fro =	of and structura om the Contract a \$43,000.00	I <b>l repair</b> s required.	\$44,900.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @	an add/delete quan ed shingles. \$10.00 wood nailer/decking \$12.00	e Re-ro titites fro =	of and structura om the Contract a \$43,000.00 \$180.00	ol repair s required. _Included in Base Bid _Included in Base Bid	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @ 21. Revenue Bay M	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00	e Re-ro tities fro  = g. =	of and structura om the Contract a \$43,000.00 \$180.00	Il repair s required. Included in Base Bid Included in Base Bid rproofing	\$44,900.00 \$231,000.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quan	e Re-ro tities fro  = g. =	of and structura om the Contract a \$43,000.00 \$180.00	Il repair s required. Included in Base Bid Included in Base Bid rproofing	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quaned shingles.	e Re-ro tities fro  =  g. =  Re-roo tities fro	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate	Il repair s required. Included in Base Bid Included in Base Bid rproofing s required.	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quaned shingles. \$8.00	e Re-ro tities fro  =  g. =  Re-roo tities fro	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate	Il repair s required. Included in Base Bid Included in Base Bid rproofing	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damaged	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quanted shingles. \$8.00  I EIFS.	e Re-ro tities fro  =  Re-roo tities fro  =	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate om the Contract a \$208,000.00	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required. Included in Base Bid	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten of 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damage of 1 SF @	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quanted shingles. \$8.00  LEIFS. \$50.00	e Re-ro tities fro  =  Re-roo tities fro  =	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate om the Contract a \$208,000.00	Il repair s required. Included in Base Bid Included in Base Bid rproofing s required.	
unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten of 15 LF @  21. Revenue Bay Munit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damage of 1 SF @ c. Waterproof EIFS	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quanted shingles. \$8.00  LEIFS. \$50.00	e Re-rootities from	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate om the Contract a \$208,000.00	Il repair s required.  Included in Base Bid  Included in Base Bid  rproofing s required.  Included in Base Bid  Included in Base Bid	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten of 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damage of 1 SF @	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quanted shingles. \$8.00  LEIFS. \$50.00	e Re-rootities from	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate om the Contract a \$208,000.00	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required. Included in Base Bid	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damage 1 SF @ c. Waterproof EIFS 1 SF @	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quaned shingles. \$8.00  IEIFS. \$50.00	e Re-rootities from the second	of and structura om the Contract a \$43,000.00 \$180.00 If and wall wate om the Contract a \$208,000.00 \$50.00	Il repair s required.  Included in Base Bid  Included in Base Bid  rproofing s required.  Included in Base Bid  Included in Base Bid  Included in Base Bid	\$231,000.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @   21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damaged 1 SF @ c. Waterproof EIFS 1 SF @	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quaned shingles. \$8.00  EIFS. \$50.00  Scales - Complete	Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo	of and structura om the Contract a \$43,000.00 \$180.00  f and wall wate om the Contract a \$208,000.00  \$50.00  \$50.00	Il repair s required.  Included in Base Bid  Included in Base Bid  rproofing s required.  Included in Base Bid  Included in Base Bid  Included in Base Bid	
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damaged 1 SF @ c. Waterproof EIFS 1 SF @	an add/delete quaned shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quaned shingles. \$8.00  I EIFS. \$50.00  Scales - Complete an add/delete quan	Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo  Re-roo	of and structura om the Contract a \$43,000.00 \$180.00  f and wall wate om the Contract a \$208,000.00  \$50.00  \$50.00	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required.  Included in Base Bid Included in Base Bid Included in Base Bid	\$231,000.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @  21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damaged 1 SF @ c. Waterproof EIFS 1 SF @  22. Transfer Station Unit Pricing - Owner of a. Replace damage a. Replace damage	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00  inette - Complete an add/delete quanted shingles. \$8.00  I EIFS. \$50.00  Scales - Complete an add/delete quanted shingles.	e Re-roo  Re-roo  Re-roo  e re-roo  e re-roo  e re-roo	of and structura om the Contract a \$43,000.00 \$180.00  f and wall wate om the Contract a \$208,000.00  \$50.00  of and eave repromise the Contract a	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required.  Included in Base Bid Included in Base Bid Included in Base Bid Included in Base Bid sir s required.	\$231,000.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @   21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damage 1 SF @ c. Waterproof EIFS 1 SF @   22. Transfer Station Unit Pricing - Owner of a. Replace damage 1,707 SF @ c. Replace damage 1,707 SF @ c. Replace damage 1,707 SF @ c.	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00 sinette - Complete an add/delete quanted shingles. \$8.00 EIFS. \$50.00 sinette - Complete an add/delete quanted shingles. \$12.00	e Re-roo  Re-roo  tities fro  e re-roo  e re-root	of and structura om the Contract a \$43,000.00 \$180.00  f and wall wate om the Contract a \$208,000.00 \$50.00  of and eave repain om the Contract a \$20,484.00	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required.  Included in Base Bid Included in Base Bid Included in Base Bid	\$231,000.00
Unit Pricing - Owner of a. Replace damage 4,300 SF @ b. Replace rotten v 15 LF @   21. Revenue Bay M Unit Pricing - Owner of a. Replace damage 26,000 SF @ b. Repair damaged 1 SF @ c. Waterproof EIFS 1 SF @   22. Transfer Station Unit Pricing - Owner of a. Replace damage 1,707 SF @ c. Replace damage 1,707 SF @ c. Replace damage 1,707 SF @ c.	an add/delete quanted shingles. \$10.00 wood nailer/decking \$12.00 sinette - Complete an add/delete quanted shingles. \$8.00 I EIFS. \$50.00 Scales - Complete an add/delete quanted shingles. \$12.00 ed vertical PT wood	e Re-roo  Re-roo  tities fro  e re-roo  e re-roo  fascia.	of and structural om the Contract at \$43,000.00 \$180.00 ff and wall water om the Contract at \$208,000.00 \$50.00 \$50.00 for and eave reproduct the Contract at \$20,484.00	Il repair s required.  Included in Base Bid Included in Base Bid rproofing s required.  Included in Base Bid Included in Base Bid Included in Base Bid Included in Base Bid sir s required.	\$231,000.00

BIDDER: Porter F	Roofing Contractors, Inc.	GC License #13934	
16. BC Area 100 Hwy	Bldg A - Complete re-roof		\$185,500.0
Unit Pricing - Owner can	add/delete quantities from	the Contract as required.	
a. Replace damaged	metal roofing panels.		
3,500 SF @	\$53.00 =	\$185,500.00 Included in Base Bid	
17. BC Area 100 Hwy	Bldg B - Complete re-roof		\$66,000.0
Unit Pricing - Owner can	add/delete quantities from	the Contract as required.	
a. Replace damaged	metal roofing panels.	·	
1,500 SF @	\$44.00 =	\$66,000.00 Included in Base Bid	
_			
18. BC Area 100 Hwy	Bldg C - Ridge damage rep	pair	\$3,500.0
Unit Pricing - Owner can	add/delete quantities from	the Contract as required.	
a. Replace damaged	•	·	
10 LF @	-	\$750.00 Included in Base Bid	
_			
			40 -00
	Iministration - Perform ma	· · · · · · · · · · · · · · · · · · ·	\$3,500.0
	add/delete quantities from	the Contract as required.	
<ul> <li>a. Clear debris</li> </ul>			
	·	\$3,500.00 Included in Base Bid	
20. Legislation/Delega	ation - Complete Re-roof a		\$51,810.0
	add/delete quantities from	and structural repair	\$51,810.0
Unit Pricing - Owner can a. Replace damaged	add/delete quantities from shingles.	and structural repair	\$51,810.0
Unit Pricing - Owner can a. Replace damaged	an add/delete quantities from the shingles. \$12.00 = 000 nailer/decking.	and structural repair the Contract as required. \$51,600.00 Included in Base Bid	\$51,810.0
Unit Pricing - Owner can a. Replace damaged 4,300 SF @	an add/delete quantities from the shingles. \$12.00 = 000 nailer/decking.	and structural repair the Contract as required.	\$51,810.0
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo	an add/delete quantities from the shingles. \$12.00 = 000 nailer/decking.	and structural repair the Contract as required. \$51,600.00 Included in Base Bid	\$51,810.0
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @	an add/delete quantities from the shingles. \$12.00 = 000 nailer/decking.	sind structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid	
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @  21. Revenue Bay Mine	n add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing	
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Mine	an add/delete quantities from the shingles.  \$12.00 = 000 nailer/decking. \$14.00 = 000 ette - Complete Re-roof and add/delete quantities from the shingles f	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing	
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Minu	an add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing	
Jnit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Min Jnit Pricing - Owner can a. Replace damaged	an add/delete quantities from the shingles.  \$12.00 =	\$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid	
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Minumit Pricing - Owner can a. Replace damaged 26,000 SF @	an add/delete quantities from the shingles.  \$12.00 =	\$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  the Contract as required.	, ,
Jnit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Minu Jnit Pricing - Owner can a. Replace damaged 26,000 SF @ b. Repair damaged E	an add/delete quantities from the shingles.  \$12.00 =	\$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid	
Jnit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Minu Jnit Pricing - Owner can a. Replace damaged 26,000 SF @ b. Repair damaged E 1 SF @	an add/delete quantities from the shingles.  \$12.00 =	\$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid	
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Mine Unit Pricing - Owner can a. Replace damaged 26,000 SF @ b. Repair damaged E 1 SF @ C. Waterproof EIFS.	an add/delete quantities from the shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid	
Unit Pricing - Owner can a. Replace damaged 4,300 SF @ b. Replace rotten wo 15 LF @  21. Revenue Bay Minu Unit Pricing - Owner can a. Replace damaged 26,000 SF @ b. Repair damaged E 1 SF @ C. Waterproof EIFS. 1 SF @	an add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid	\$260,010.0
Unit Pricing - Owner can  a. Replace damaged 4,300 SF @  b. Replace rotten wo 15 LF @  21. Revenue Bay Minumit Pricing - Owner can a. Replace damaged 26,000 SF @  b. Repair damaged E 1 SF @  c. Waterproof EIFS. 1 SF @	an add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid	\$260,010.0
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @  21. Revenue Bay Minumit Pricing - Owner can  a. Replace damaged  26,000 SF @  b. Repair damaged E  1 SF @  c. Waterproof EIFS.  1 SF @  22. Transfer Station S  Unit Pricing - Owner can	an add/delete quantities from the shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid	\$260,010.0
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @  21. Revenue Bay Minumit Pricing - Owner can  a. Replace damaged  26,000 SF @  b. Repair damaged E  1 SF @  c. Waterproof EIFS.  1 SF @  22. Transfer Station S  Unit Pricing - Owner can  a. Replace damaged	an add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid  the Contract as required.	\$260,010.0
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @  21. Revenue Bay Minu Unit Pricing - Owner can a. Replace damaged 26,000 SF @  b. Repair damaged E 1 SF @  c. Waterproof EIFS. 1 SF @  22. Transfer Station S Unit Pricing - Owner can a. Replace damaged a. Replace damaged	an add/delete quantities from the shingles.  \$12.00 = 1000 nailer/decking. \$14.00 = 1000 nailer/decking. \$14.00 = 1000 nailer/decking. \$14.00 = 1000 nailer/decking. \$10.00 = 1000 nailer/decking. \$5.00 = 1000 nailer/decking. \$5.00 = 1000 nailer/decking. \$5.00 = 1000 nailer/decking.	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid	\$260,010.0
Unit Pricing - Owner can  a. Replace damaged  4,300 SF @  b. Replace rotten wo  15 LF @  21. Revenue Bay Minu Unit Pricing - Owner can a. Replace damaged 26,000 SF @  b. Repair damaged E 1 SF @  c. Waterproof EIFS. 1 SF @  22. Transfer Station S Unit Pricing - Owner can a. Replace damaged a. Replace damaged	an add/delete quantities from shingles.  \$12.00 =	sand structural repair the Contract as required.  \$51,600.00 Included in Base Bid  \$210.00 Included in Base Bid  and wall waterproofing the Contract as required.  \$260,000.00 Included in Base Bid  \$5.00 Included in Base Bid  \$5.00 Included in Base Bid  the Contract as required.	\$51,810.0 \$260,010.0 \$23,066.0

BIDDER:	Double AA Construction Company, LLC GC License #37758	
23. Bicenter	nial Park Church - Complete steep slope shingle re-roof	\$28,300.00
Unit Pricing -	Owner can add/delete quantities from the Contract as required.	
a. Replace	damaged shingles - steep slope.	
2,500 S	F @ \$10.00 = \$25,000.00 Included in Base Bid	
Unit Pricing -	d Schoolhouse - Shingle roof repair  Owner can add/delete quantities from the Contract as required.  damaged shingles.  \$15.00 = \$390.00 Included in Base Bid	\$1,500.00
	BASE BID GRAND TOTAL	\$788,000.00
Bid Bond Incl Exceptions:	uded: YES NONE	

BIDDER: Po	orter Roofing Contrac	tors, Inc.		GC License #13934	
23. Bicentennia	Park Church - Comp	lete stee <sub>l</sub>	p slope shingle	e re-roof	\$37,500.00
<u>Unit Pricing</u> - Owr	er can add/delete quar	ntities fron	n the Contract a	s required.	
a. Replace dan	naged shingles - steep s	lope.			
2,500 SF @	\$15.00	=	\$37,500.00	Included in Base Bid	
Unit Pricing - Owr	hoolhouse - Shingle r er can add/delete quar	•		s required.	\$1,560.00
	er can add/delete quar	ntities fron	n the Contract a	s required. _Included in Base Bid	\$1,560.00
Unit Pricing - Owr a. Replace dan	er can add/delete quar naged shingles.	ntities fron	n the Contract a	·	
Unit Pricing - Owr a. Replace dan	er can add/delete quar naged shingles. \$60.00	ntities fron	n the Contract a	_Included in Base Bid	\$1,560.00 \$984,104.00